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JK Flip-Flop with SR Flip-Flop

Determine S and R using
the Execution Table for SR

.
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T Flip-Flop with SR Flip-Flop

Determine S and R using
the Execution Table for SR

.
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S Q : Q Characteristic Table T l
) bok | InEmE)> T QO[OGN [S TR
R QPPQ | O I A
| 110 1 1 [0
A A W I I 1 1 0 0O |1
CLK
QW
X ]
s o tQ
D CLK !
) <::::ID[I : Qb
| T(t)‘ 1 R=T(t) » Q(t)

Fall 2010

CLK

Digital Technique by Todor Stefanov, Leiden University




SR Flip-Flop with JK Flip-Flop

Determine J and K using

el l the Execution Table for JK
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D Flip-Flop with JK Flip-Flop

|- T T T T T T T TS ! Determine J and K using
the Execution Table for JK
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